4. EERE
(EEREZEOHE)

S0 34 3 AKRAEDREE (AD 100 AD2DDEFRESH) . 1.81%THIE
DT (1.84%) KD IKENEDD. FaL 10 £ (0.56%) 8T B4 3.2 51T
TLETD,

(% —— EFX — RN

2.2
20 4-QN.
e 897184 184

1.8
16 — ,C; 175 176 1.77 1.81
1.4 .
o 1~15/jJ

1.20
10 M

078, #7100

08 ,/
06 5=
041056
02
0 | | | | | | | | | | | | | | | |
106 156 205 Tro5a TRA0E | 034
SRR (%) =R AS, AOX 100 (343831880
(BFRETRES)
(ERRESR)
%)
7.0
5.93
6.0 i
50
a0 | 3.81
] 3.24
30 -
2.31
2,07
20 174 - 191 1.9 4 g 16
i 150 1.53 02 138 1.40
120 (g5 »
10 - 090 0.79_0.75
O I I I
g o o® P @B OB £ B B = B2 B B B P % 8 B
g = K X X ®m £ K £ R % X 2 #® & X & »
& (570343 A31 854
BT REFZES)

(Y3 TRKY hEDEE)
R 5 DL ETERICBELTWB/N\O—D— DR
I2Ky R) L, RAEBOE OO BIREDSFIRE
DI ODBIBRE EZTV) EBREREE LB HED
BICR R EETo CVET,






